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[13] [a] xxf cos)(   , 1a [b] xxxf  2)(  , 2a

[14] 5.1  feet per minute

[15] )2(24  xy

[16] )2(f  < )4(f   < 0  < )2(f   < )4(f

[17] [a] If the refrigerator temperature is C4 , the meat will defrost in 6 hours.

[b] If the refrigerator temperature is C4 , the meat will defrost 1 hour sooner for each C1  increase in the refrigerator’s
temperature.

[c] No. The defrost time should always decrease if the refrigerator temperature increases. The meat will always defrost faster in a
warmer refrigerator.
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[19] [a] 3x  (discontinuous) [b]

2x  (vertical tangent line)

3,1x  (cusps)
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Since )4(f   exists, therefore f  is differentiable at 4x  (by the definition of “differentiable”).

Since f  is differentiable at 4x , therefore f  is continuous at 4x  (by the “differentiability implies continuity” theorem).
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 (by the definition of “continuous at a point”).
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